TR =7 -GL7HMMRTET R

NE 2 K4 ouT IN Total Hdep  Net R 01£E09 A 22H

L Heh B— | 38| | 38] 00] 380 Y=TIIR
2 BA =4 | 39] [ 39] 00| 390] Y=THIR
3 Sf R— | 39| [ 39] 00[ 390 Y=TITA
4 e 5 | 40] [ 40] 00 400] Y=TIIR
5 &0 SEh | 47] [ 47]_00] 470] Y=THIR
6 FXHF | 47] [ 47] 00] 470] Y=TIIA
7 H# FE— | 50] [ 50] 00] 500] P YT H5R

" *BG=A'ZM'ORX EA={—%)l BI=N—7'4 BB=7'-t'— BM=7—t'—A-H— AL=TJLNFER
' ouT _J IN
| nuLe | 1 2 3 > 10| 11 | 12| 13| 14| 15| 16 | 17 | 18 Total

PAR 5 3 4 4 4 4 5 3 4 36|4 4 4 3 4 5 4 3 5 36|72
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